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circuit shown in Fig. Q1 (c).
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4tL

Vx

c.

do
(,)
d
!A
E

d

0)
d
0)

94 a)
oo-
8.=
-y5

?i ta)

;o ll
coo
.=Nc!$
ho0ts()otr
-tr()
tr'troB
En

tsE
'ii ()

dO

OEooE(cd

FH
'Ed
-2" ts!a

48.
Fo.
oj

9E
a€
6L
HO

=-9>.I
oo --troa
(J=

:+9
Xi)
EE
o<
J ..i
()
oz
ad

oa
.E

I
,

.5qi
,

so0

A.
v)'

,

5v

t&,y:the_:xe^ressp[-e,fO A toytra$@ton (ir) Yto A transformation ,

ffi;tilX};,'Jfuko +d the vq'aorv* i' the circuit shown in Fig. e2 (b), ,Jililf'
the current tffipfi-(z+F)o i

+ 6ffi6t
, * .a$" oK*"flH^,"".,,lffi,;, (ii

$

"S&c'
,&

,uib

w'

rsr..

),

,UA

3,

Sy'



18EC32

shown in3 a. State superPosition theorem
Fig. Q3 (a).

b.

c.

Module-2
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*s
tos'

Ag* OR

4 a. Obtainthe Thevenin'ffiffiorton's Equivalent

"*,#-q*e

\: I orL
,(*d'

/%, \;-*'- lolg

A.
,Cf*qi

A
q)'

&
v

tlw
?"..*

L
"(t.am&

&dry"
*
ry

"&
,@eN

%["
d

Fie. Qs (b)
2 of4

***
tu#'

j

zBdW

for the

^$._#ffiGd' *tbt Mg"dflie-3
a.dExplain in detailptransient resp-qkbf a R-L circuit for D.C. Excitation.

b fina lftl for#Wnetwork showp*ffig. Q5 (b), if the switch K is opened at

circuit'wffiady state condffibefore the switch **::.[O at t:0.

(12 Marks)
(08 Marks)

network shown in Fig. Q4 (a).
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find current
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= 0, assume

(10 Marks)

Fie. Q3 (a)
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oR-s#
Explain in detail the transient response of R-C circuit ffit.citation. (10 Marks)

Determine (0), g{q) 
, {g) if switch r i, .r@Yt : o ro, the circuit shown in Fig.

dt dt' *, s-#
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Q6 (b). Given V =

State and prove in
Find the Laplace of waveform shownjn Fie. Q7 (b).
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in FrF Q8 (b), using Laplace transform.
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a. Define rei&'rrt frequency, haJf Swer frequencies with respect to series circuit and hence{
show that resonant frequer$qr ft geometric mean of half power frequencies. (08 Marks)

b. A coil of inductance 1Qffi 10O resistance is connected in parallel with 100 PF capacitor.

The combination is apffiwith a voltage of 100 V. Find resonant frequency and current at

rp1

resonance. S (06 Marks)

c. A series RLC ci#ful* consists of a resistance of 1 KO and an inductance of 100 mH in series

with capacitqrffi0 PF. If 100 V is applied as input across the combination determine

,rroruni freqrffiy, Max-current, Q-factor. (06 Marks)
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c. Define Q-factor, ,.,r*,&-Iru*rTf;?l3tl**grlre the relation betweertf.[H3,
frequency and half nq$&quencies qf (06Marks)
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